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Topic:- General Knowledge

1) Shree Ramcharitmanas was the influential work on Ramayana by: /

Y IR, IHTUT UR YHTGRITeN ST 4T 574 59 g1 forar T o
1. Tulsidas / WW
2. Kalidas / BTG

3. Ramananda / JHHG
4. Kabirdas / PRGN

Correct Answer :-

« Tulsidas / JaHTG™

2) Who preceded as the Chief Minister of Madhya Pradesh prior to Shivraj Singh Chauhan? /
Rz Rig 9l @ Ugd AAvRw S gl o 32

1. Digvijay Singh / fafaora Rig

2. Babulal Gaur / STqcITel R

3. Uma Bharathi / ST YRal

4. Kamal Nath / HT 1Y

Correct Answer :-

. Babulal Gaur / STS@TS TR

3) Who was the first Indian Captain to win the One Day International Cricket World Cup? /
THfeadiia T fbdre fay wu Sitam arat yuw YR FaE 19 42

1. Sunil Gavaskar / ﬁT‘ﬂT"I RICRSZR

2. Mohinder Amarnath / Ih'%a_{ STHRATY

3. Kapil Dev /A ¢d

4. M.S. Dhoni / TH.QY. 4!

Correct Answer :-

« Kapil Dev/ CAERIGE]

4) Who is the current leader of the opposition in the Madhya Pradesh Legislative Assembly? /



AT fauraHT # fauar & adA a1 19 82
1. Kailash Chandra Joshi / alTRT 9 SRt

2. Babulal Gaur / JTg¢ITel MR

3. Vikram Verma / fag# aaf

4. Ajay Singh / 3570 fRig

Correct Answer :-

. Ajay Singh / 3/o1g g

5) The first Indian woman to reach the summit of Mount Everest was___ ./
ATE TR & FRRER a9 U arell wud URdg ufgen At

1. Sangeeta Sindhi Bahl /W’ﬁ?ﬂﬁf‘iﬁm

2. Premlata Agarwal / AT 3ard

3. Deepika Rathore / AT AR

4. Bachendri Pal / S5 O

Correct Answer :-

« Bachendri Pal / aﬁ I

6) The book “The Discovery of India” was written by: /

“YRd B Wi q7 < FETpast 3w fear grae e & gy fordt 715 <t
1. Vijaya Lakshmi Pandit / faorg et dfga

2. Jawaharlal Nehru / SIdTgX Al q_ER?

3. Maulana Abul Kalam Azad / HTGHT S ENICINIERSINI

4. Rajendra Prasad / oI UHTG

Correct Answer :-

« Jawaharlal Nehru / SIdTgX dldl a%%g

7) The Amaravathi Dam is located in which State of India? /
HRA & DI I 9 § 3FRTad iy fRua 2

1. Madhya Pradesh / THYC

2. Jharkhand / FRES

3. Telangana / SSHIEI

4. Tamil Nadu / IH@ S
Correct Answer :-

« Tamil Nadu / IH@ g

8) The Diesel Locomotive manufacturing facility is located in which district of Madhya Pradesh? /



AT & fpu Rora § Shora aiwimifea fafmior giaew R« @2
1. Ujjain / S

2. Jabalpur / STEAYR

3. Schore / IBR

4. Bhopal / HIUT@

Correct Answer :-

« Sehore / @_@T

9) Sundar Pichai is the current CEO of which global technology company? /
G R Ry A Teifirast ot 3 ador Wdan 82

1. IBM / 3{TSelTH

2. Microsoft / rnsaﬂﬁq%'

3. Google / T[T
4. Apple / Tl

Correct Answer :-

« Google / TITc]

10) Where is the Sanjay Gandhi Thermal Power Plant located in Madhya Pradesh? /
AR | Torg il a1y fagya 9= vl RAa 82

1. Jabalpur / STdeTgR

2. Pithampur / tﬁ?m'ER

3. Birsinghpur / m

4. Burhanpur / gX&TTYI

Correct Answer :-

« Birsinghpur / m

11) Baichung Bhutia is an Indian legend in which sport? /
IS Yfear fra e ¥ v uRd fnre 82

1. Hockey / ‘5’”@“[

2. Archery / dRarsi

3. Football / Ppesiidl

4. Shooting / % ¢ (ﬁ?ﬂﬁaﬁﬁ)

Correct Answer :-

« Football / Ppesicl

12) Madhya Pradesh is the largest producer of which of the following agricultural crops? /



Teaye e d 3 fow o voa &1 999 981 A 32
1. Maize / Hah]

2. Soybean/?ﬁﬂ'l_ﬁﬂ:f

3. Wheat/ﬁ_ﬁ

4, Grams / 9l

Correct Answer :-

« Soybean / TATEH

13) Name the latest Indian state born out of bifurcation of a Southern State in 2014. /

2014 ¥ EfE01 3T & fAUTSH A IUd §T AdI-aH YRR 9 $T A9 qa1sd |
1. Coimbatore / W

2. Telangana / GEHIEI

3. Mangalore / AR

4. Cochin / B

Correct Answer :-

» Telangana / SNHIE

14) Name the two cities in Madhya Pradesh where the Metro Rail Project is planned to be implemented? /

HAYGR & 39 &l WG & A7 IaTsd T8 Al Yol GRS P PATad B B A1 o715 132
1. Indore and Gwalior / $GR 3R IR

2. Indore and Bhopal / $GRR 3R HiUTe

3. Bhopal and Gwalior / HTTTS 37R TqTfoRR

4. Bhopal and Jabalpur / 10T 3R STEaqR

Correct Answer :-

« Indore and Bhopal / Q'élq 3R Hard

15) Name the Madhya Pradesh Governor who was also the Union Agriculture Minister in 1991 Congress
government. /

ALY & I ISUUTA BT 419 Td150 S 1991 F ST U A Heiig HiY w0 oft A1
1. Bhai Mahavir / 4TS TgTAR

2. Balram Jakhar / SCRTH STRGS

3. B.D. Sharma / &t 1. g

4. P.V. Dixit / 0t dT. Siféra

Correct Answer :-

 Balram Jakhar / S¢IRTH SIRAS



16) Name the 52"d and newest district of Madhya Pradesh planned to be constituted in the Bundelkhand region. /

Ras & ¥ Aiftfa frd o ¥ Ry dismras Team ¥ 529 o T Rid @1 aarsd |
1. Barwani/asa'l:ﬁ
2. Dewas/aam

3. Dhar / YR
4. Niwari / 19 3 |

Correct Answer :-

« Niwari /4 3'

17) Name the irrigation project launched by the Prime Minister in June 2018 in Rajgarh district of Madhya
Pradesh. /

A YR & IToTe foret W S 2018 ) HUTTHA §RT 3R @1 7S Riwmg uRaie = &1 91 sargd|
1. Bargi Diversion Major Irrigation Project / CRUIRCIBERE| doq ﬁﬁﬂg LIRSl
2. Rehti Medium Irrigation Project / gl Ty Rl

3. Mohanpura Major Irrigation Project / W dea IREIERIReISEI]
4. Punasa Lift Irrigation Project / YT &g i 'sf gRaeT

Correct Answer :-

« Mohanpura Major Irrigation Project / Ihﬁ:rﬂ'\"[ dea ﬁl?ﬂ_sc BIRCISEI

18) Which cricketer on 14t July 2018 became the 12t gverall to cross 10,000 runs in One Day International
history? /

ue fearita siaeifa sfrer & 14 9@TS 2018 B Y AT R6dex 10,000 37 A 34 T T aran 1291
faarst =2

1. Kumar Sangakkara / HR JHRT
2. Virat Kohli / faRTe sigeit
3. Steven Smith / &1d &Y

4. M.S. Dhoni / TH.TH, &=

Correct Answer :-

« M.S. Dhoni / TH.TY. Yt

19) Which Madhya Pradesh Chief Minister succeeded C. Rajagopalachari as India’s 3" Home Minister? /
HAYSN & P § FErHAl, . ISNUAER] F 91 YR $ R 76 7 9932

1. Ravishankar Shukla / XTARIhR el

2. Sunder Lal Patwa / &R @Td Jedl

3. Govind Narayan Singh / Thﬁ_d ARTIUT ﬁl’s’

4. Kailash Nath Katju / AT Y EAESE



Correct Answer :-

« Kailash Nath Katju / a1 14 Hleg]

20) Light-year is a measurement of: /
ypTR-ay e & AT @:

1. Time in Space / 3{dR& T T

2. Distance in Space / GHF\"&TIE[@

3. Speed of Satellites / G'CF;I@ I

4. Speed of Light / UehT &1 ATcl

Correct Answer :-

« Distance in Space / G{Hﬁ&fﬁﬁ

Topic:- General Hindi

1) I - & fore gt 4ftr fawde &1 gl
1. 3+
2. 3+
3. 3+
4. S+

Correct Answer :-

2) IH-A4-4F &1 IR g Fa A a s arg?
1. T T 3R ¢4
2. T AT R U
3. 1AM 3R o7
4. T T 3R ¢

Correct Answer :-

. TTHA R ¢

3) A -Suwi AT o Fu A P ATR?
1. ftaf=
2. AR
cAECINI
4. fator

Correct Answer :-



4) 3(F9 BT g0 - YeTak &1 3 P e A A HT a2
1. HHATRIT BT

2. AAIHTEAT guf g

3. 9"

4 gEAT B

Correct Answer :-

5) T - & fore a8t <fd fasde &t gl
1 gH+HA
2. JH+HT
3. g+

4. qH+HT

Correct Answer :-

o JH+HM

6) YS-AEPR & TS s Fa A A s e
1. 96 BT DR

2. 43 T AEHR
3. 96 3R AEHR

4. TS AT AEHR

Correct Answer :-

. I3 3R AEHR

7) el - FI S U FAH A B ]2
1. Hedrdn

2. T

3. Heldd
4, Hedl

Correct Answer :-

8) Ppd & fore wel vafgar ar w3l #1 ufda &) gl
1L 94, oFH, I



2. W, 4, T
3. I, DA, W
4. 9, $gH, T

Correct Answer :-

9) PP MR A & Rl @ I Fad IS aTs?
1. FRAR
2. DR
3. 3TPR
4. fRBR

Correct Answer :-

10) “ATIIRA BT Jra” & 1 T T FA A A P ATR?
1. T

2. Ty

3. &

4. TIR%

Correct Answer :-

11) 3@ IUHI 4 1 Vg FH A A D AT?
1. 3T

2. 3fdwd

3. 3

4. 3ffqarfed

Correct Answer :-

12) gt & e W) vafaarh ard st & ufe &1 gfal
1. Y, IgYT, YR

2. Y, YFBT, &Rt

3. Y, Y, et

4. YR, YA, eRfd

Correct Answer :-



13) gurfar- FIYs EU A A AP ATR?
1. gy

2. AT

3. JYUTITAT

4. gursf

Correct Answer :-

. g

14) UM - &1 A9 & A S I1 98} faav I 32
1. TAHTED

15) BN - BT 5 & A I 91 9! fady reg B2
1. YATHID
2. YATHHT
3. YT
4, YIdHD

Correct Answer :-

16) SUT- YOG A T Vg AT A A P ATR?
1. 3Tgd

2. TGRS
3. \afedr

4. UgTS

Correct Answer :-

17) TRUT &R, fian ed, v1d Fie T 9|
IR B Wiord fibed, wdt AfEm 9k - § g & | 919 91 e R 82



1. ¥UH AR
2. Y ADPR

3. SUHT 3ADR
4. JAET AR

Correct Answer :-

. Y 3APR

18) &Y WU fRra waAfe, §9 @& g AT

Tt Fuer faivafg, s e gy - A A AP I e
1. R ™

2. AT X

3.5 X9

4. dR

Correct Answer :-

19) S ¥EHW ifa $u oY, o HYd Bt A

IR SR B, 9¢ SitRY g1g| - § e § @ &1 91 PR 32
1. TUD AADR

2. 7Y 3ABR

3. SUHT 3ABR

4. ST 3ADBR

Correct Answer :-

. TOY APR

20) 3T B DAt BfY et faa fU @,
HI o] oId G DI (A HS
AfrmddemaE

1. Yfdd

2. GY I

3. 3% 9

4. R

Correct Answer :-

Topic:- General English



1) Choose the correct form of modal auxiliary verb for the given sentence:
It was crazy of you to drive like that. You __ have killed somebody.

1. can

2. need

3. could

4. shall

Correct Answer :-
« could
2) Choose the option that correctly sequences the following sentences.

1. The baby tortoise once again limps his way up the tree and prepares to attempt another flight.

2. A baby tortoise climbs to the top branch of a tree and walks to the end of the branch.

3. As he tries to ‘fly’, he spreads his legs, waves them as hard as he can, but hits the ground very hard.

4. He spreads all his four flippers like a bird and jumps off the branch.

5. One of the two birds, who were watching his futile attempts to fly, turns to the other and says: “It's about time
we told our baby tortoise that we adopted him.”

1. 24315
2.54312
3.35241

4. 12435

Correct Answer :-

o 24315

3) Choose the correct form of the verb from the given options in the given sentence:
Please do not disturb me while | my homework.

1. done

2. am doing

3. am did

4. doing

Correct Answer :-

e am doing

4) Choose the option that best explains the highlighted expression:
He is popular among all the villagers. He is the salt of the earth.

1. an angry person

2. an emotional person

3. a sensitive person



4. a good and honest person

Correct Answer :-

» agood and honest person

5) Choose the option that best transforms the given sentences into one:

He stayed at home. He wasiill.

1. He stayed at home so being he wasiill.

2. He stayed at home because he wasill.

3. On account of his illness so he stayed at home.

4. Staying at home he was ill therefore.

Correct Answer :-

« He stayed at home because he wasiill.

6) Choose the most suitable determiner for the given sentence:
people have come to watch the final cricket match between India and Pakistan.

1. Several

2. Alittle

3. Much

4. Little

Correct Answer :-

» Several

7) Choose the most suitable conjunction for the given sentence:

We could go to the library we could go to the park.

1. yet

2. 0or

3. but

4. so

Correct Answer :-

8) Choose the appropriate prepositional phrase for the given sentence:
huge losses in their family business, they had to sell their big house.

1. Owing to

2. Owing for

3. Owing by



4. Owing on

Correct Answer :-

» Owingto

9) Choose appropriate articles for the given sentence:

_____city of Delhi has been locked down for ___ past three nights due to ___ alleged terror attack.
1. The, the, an

2. The, the, a

3. A, an, the

4. A, the, the

Correct Answer :-

e The, the, an

10) Spot the error in the given sentence:

The dog was running in circles trying to catch it tail.

1. The dog

2. to catch it tail.

3. in circles trying

4. was running

Correct Answer :-

« to catch it tail.

11) Choose the correct form of tense for the given sentence:
He _ to a well-to-do family and has an expensive motor bike.
1. belongs

2. is belonging

3. was belonging

4. has been belonging

Correct Answer :-

« belongs

12) Choose the correct form of tense for the given sentence:

He his PAN card right inside the drawer, where he it.
1. is finding, is kept

2. found, had kept



3. will found, will keep
4. finding, keeping

Correct Answer :-

« found, had kept

13) Choose the correct form of verb that is in agreement with the subject:

Anne’s diary _____ on her thirteenth birthday, June 12, 1942, and _____ shortly after her fifteenth.
1. begin, end

2. begins, ends

3. is beginning, is ending

4, began, was ending

Correct Answer :-

« begins, ends

14) Choose the word that is opposite in meaning to the highlighted word given below:
That school is known to excel at sport.

1. exceed

2. beat

3. fail

4. shine

Correct Answer :-

o fail

15) Choose the appropriate prepositions for the given sentence:

Our lives have been completely changed _ the invention _____ the telephone.
1. for, with

2. with, of

3. to, without

4. from, of

Correct Answer :-

o with, of

16) Choose the option with the appropriate punctuation inserted in the given sentence.
Milton one of the greatest English poets was blind

1. Milton one of the greatest English, poets, was blind.

2. Milton one of the greatest, English poets was blind.



3. Milton, one of the greatest English poets, was blind;
4. Milton, one of the greatest English poets, was blind.

Correct Answer :-

» Milton, one of the greatest English poets, was blind.

17) Choose appropriate articles for the given sentence:

_____new carpet was laid outin ___ drawing room today.
1. The, an

2. A, the

3.An, a

4. An, the

Correct Answer :-

18) Complete the sentence choosing the correct prefix:

Students have a tendency to ____behave during exams.
1. mis-

2. un-

3. non-

4. dis-

Correct Answer :-

19) Choose the option that best transforms the sentence into its passive voice:
Who broke the glass pane?

1. The glass pane broken by whom?

2. The glass pane is being broken by whom?

3. By whom was the glass pane broken?

4. By whom was the glass pane being broken?

Correct Answer :-

» By whom was the glass pane broken?

20) Choose the option that best transforms the sentence into its active voice:

The instructions should be followed by all students.
1. All students were following the instructions.

2. All students followed the instructions.



3. All students should follow the instructions.
4. The instructions should follow all students.

Correct Answer :-

« All students should follow the instructions.

Topic:- General Mathematics

1) CANCELLED

If ABC is an arc of a circle and #ABC = 1357, then the ratio of arc ABC to the circumference is: [/

TG ABCTH dcd & 919 § U@ £ ABC=135° §.d aRfT & =17 ABC &7 39 ¢
1.3:4
2.1:2
3.1:8

4.1:4

Correct Answer :-

2) The chord of a circle is equal to its radius. The angle subtended by the chord at the minor arc of the circle is: /

TS g9 3 1, 3B a1 & G 31 99 & Y 919 W <97 gRT Siafid S g:

5, 300°

4, 60°

Correct Answer :-

3) The least number to be subtracted from 7925 to make it a perfect squareis ./
RWER B EEn 2, O 7925 § & e ifew a1fd 98 te gl a°f a1 Wi
1.5

2.2

3.4

4.6

Correct Answer :-

4) The point (4, -3) does not lie on the line: /



f6g 4, -3) AW R RYT TS g1 B:

1.2x+3y+1=0

2.x+2y+2=0
3.x+y—-1=0
4.x-y+1=0

Correct Answer :-

5) A cylindrical rod whose height is 8 times of its radius is melted and recast into spherical balls of same radius.
The number of balls will be: /

ST AT A 8 AT HATE 919 TP A9HTPR IS B FUaamar oirar @ Ud 39 U G BT ard MareR gl
o T STaT 311 Ae &) w@n g

1.3
2.8
3.4

4.6

Correct Answer :-

6) If the median of the observations 21, 22, 25, 26, x, x+4, 35, 38, 39, and 40 arranged in ascending order is 30,
then the 6th observation is: /

T RIS P & saafRUd Weiuif 21, 22, 25, 26, x, x+4, 35, 38, 39 3T 40 &1 AP (HIfETT) 30 T,
q9 TST Ve&I0T 8-

1.33
2.28
3.32

4.29

Correct Answer :-

7) For a flower show, 1400 roses are arranged such that the number of roses in a row is exactly same as the
number of roses in a column. Find how many roses would be left out in such an arrangement. Also find the
number of roses in a single row. /

T I UG & 1T, 1400 el ®1 39 UHR Saf®d frar simar @ f ve ufed § el #1 den e
Y B [ATE] B AW S THM 81 J1d DN (b 59 9 Dt G H fha- Jara 9 A1¢H | U ufea o
Taral ot g W 919 SR

1. 31,37

2.44,38

3. 104, 36



4. 121,39

Correct Answer :-

« 31,37

8) Two dices are rolled simultaneously. The probability that the product so found is an odd number is: /

31 UTH! @1 TP 1Y SH T T | UTW B a1l IeUTG U faud =T 7, 9! Uiiidar &:

2
9

9) In a right angled triangle, the square of the hypotenuse is twice the product of the other sides. The triangle is: /
TP gHS U Y 8, 9 &1 3t g Yorel & e d w1 g e | AYS 8:

1. None of the above / ‘o“qﬁaa e aﬂé :lﬁ

2. Equilateral / {Hdlg

3. Isosceles /HTI'@E'IE

4 Of angles 30°, 60° and 90° / ITT 302, 60°, 90° FTeT

Correct Answer :-

« Isosceles / W@Eﬂ'g'

10) ABCD is a rectangle. If AB + BC = 14 cm and AC + BD = 20 c¢m, then the length BC of the rectangle is: /
ABCD U 3T0d 21 Tfe AB + BC = 14 Y 3R AC + BD = 20 9, 1 3mad # BC &1 @S ©:

1.9 cm /9 T

2.5cm/ 5 TH

3.8 cm /8 T

4. 4cm/4TH

Correct Answer :-

. 8cm/8OH

11) Which of the following does not have a square that ends in 4? /



Pl % 3 frad ot & sia o 4 718t amar @2
1. 1832
2.718
3.872
4.1236

Correct Answer :-

« 1236

12) Which one of the following lines passes through the origin? /
Frafafed # @ o1 9@ Y1 gafdg 9 g TorRd 82
1.2x—-3y=0

2.5x+6y=4

3.2x +2y=3

4x-y=1

Correct Answer :-

13) If oneangle of a parallelogram is 21° less than twice the smallest angle, then the measure of the largest

angle of the parallelogram is: /
I TRl THTATCR Tqelsl & T FHI0T, HaG BIC HI0T & GIlel § 21° FH b, 09 FHEAK
IgHSA & TEW G5 FHIUT T AT o

L 113¢

14) In AABC. #B is 25° more than # A and #C is 5° more than four times #A_The biggest angleis __ [

AABC #, /B, ¢A & 25 3% § @ £C. A & IR a1 & 5° 3fisF g1 €9 a1 10T B

250

4, 105°

Correct Answer :-

. 103°



15) Ifthe difference of the two supplementarv angles is 48°, then the larger angle is: /
g & IS HION &7 Ja< 48° §, dd I3T FIT &

, 12
, 108°
5 114°

4. 110°

Correct Answer :-

114°

16) Simplify / T & :

s 1 P é
(1) -207 0P +( 2]
I‘._ZJJ |‘.‘_ 9}.
8
1,
125
5 B
56
3 3
15
4 8

Correct Answer :-

17) The length of a box is thrice its breadth and its height is 8 cm. Ifits lateral surface area is 256 cm?, then its

volume is: /

UF FRT T oG5 SHhT diss T Al A § 3R swdr S 8 @ 81 IfE swe und
USSR &TAhe 256 JAT §, a9 U 3G ¢

1 384 cm® / 384 {AY
5 356 cm?® / 356 {1
3, 478 em? [/ 478 &HP
4. 492 cm’ [ 492 THP

Correct Answer :-

. 384 cm® / 384 AR



Ifthe polynomials 2x* + ax* + 3x — Sand x® + x* — 2x + a leave the same remainder when
divided by x — 2, then the valueof "a’1s__ . /

I 95U¢ 2 +ax? +3x -5 T P +x! - 2x +aFl x-2 A faTET T W GAT 99
Ued BT &, d€ a R AR Bl

1.5

2.3

19) In AABC, £B =35°, £C =63° and the bisector AD of £#BAC meets BC at D. Which of the following

relations is true? [/
AABC #, £B =35, £C =63°d +BAC & FAGAAI® AD, D ©X BC & &Haar g1
orafatead § ¥ i 9T T69 I 872

1.AD~ CD ~ BD
2.AD ~ BD~ CD

3.BD~ AD~ CD

4. None of the above / SIRIGd H I aﬂ‘s‘ 7'@3[

Correct Answer :-

20) On dividing x*+2x* + 8x% +12x + 18 by a polynomial g(x), the quotient and remainder are x2+2x+3 and

2x+3 respectively, then g(x)is: /

20+ 8xI+12x + 18 &Y 9g9E g(x) g@nt Faford e . AT 3N U HAT:
242x+3 3R 223 6 At g(x) &

1, x*=3x+10

a. ®x43x—5

Topic:- General Science

1) CANCELLED



Which of the following diseases is caused by a parasitic worm? /

Frufafea & @ o193 Fadl, weitdt i & R ER 82
1. Elephantiasis / Hiauid
2. AIDS / USH

3. Ascariasis / Wﬁ'ﬂﬁ%ﬂ
4. Malaria / II@’&’CIT

Correct Answer :-

» Ascariasis / T¥h TRy

2) The work done on an object does not depend upon: /

ToreT g o= foraT T & A o iR 9l #ar 8

1. Displacement / faeama=r

2. Force applied / =1t 14T 97

3. Path followed / s o

4. Angle between force and displacement / &<t 3 fareamas & &= o

Correct Answer :-

« Path followed / IarfHa 721

3) If a football is thrown vertically up, then the force of gravity acting on it .
TS UF Gl F 99 T T S 6T AL T TIT FATAT 8, AT S I FALT [ TRy I |
1. is opposite to the direction of motion of the ball / 3z #Y wfa &t fZem = Ao grar 21

2. becomes zero at the maximum height / sTfeFa® S=TS 9T =7 &1 14T 2

3.is in the same direction of motion of the ball / 3z & a7t &t T\ fom & grar 21

4. increases as it rises up / ITH FAL ST 9¥ FEaT 2

Correct Answer :-

« is opposite to the direction of motion of the ball / iz # arfar it fEerm % oo grar

4) When we jump out of a boat, the boat moves in the opposite direction. This is due to: /

T ZH AT & qT8X Foad &, a1 e o fem & st &1 g@ewr Fwreor A &

1. The fact that the net force acting on the boat is to be zero / T=7 7g g {3 ATa I ST 3T Tt 5 T B1AT &
2. Newton's First Law of Motion / === = Ifd &7 9gar ==+

3. Newton'’s Second Law of Motion / == % fd T gaeT ==+

4. Newton’s Third Law of Motion / =Tz & i T dte<T A=

Correct Answer :-

« Newton’s Third Law of Motion / === % rfar T T e



5) For a sound wave, frequency is 8800 Hz and speed is 352 m/s in a given medium. The wavelength of the wave is: /

% @ a3 & g, 3mgfRy ssoo g € SR fapeft faw T urenw o arer 352 HewA B 1 agR Fraveud 8:
1.0.4m / 0.4 HIcX

2.0.03m / 0.03 HIcR

3.0.25m /0.25 HicR

4.0.04m /0.04 HicR

Correct Answer :-

« 0.04m /0.04 fieR

6) A device used to protect the buildings from the damaging effect of lightning is: /

TR 1 TSI faerell & 1P RS YHIE | TR & forg yai fear o aren 37 &:
1. Seismograph / R

2. Electroscope/m

3. Barometer / SRIHICR

4. Lightning conductor /Fﬂ%?ﬁ"'fw

Correct Answer :-

« Lightning conductor /¢ 53'31" HeFR

7) Fuel used in Space Shuttles by NASA is: /

T §RT AR e H ST fobar o aren 599 e
1. Liquid nitrogen /W:l'lg_gflﬁ:f

2. Liquid bromine / TRE S

3. Liquid oxygen / d¥d SeRiTeH

4, Liquid hydrogen /W?E@\_YFT

Correct Answer :-

« Liquid hydrogen /dXdl © 33 ol

8) What happens when a hot body is kept in contact with a cold body?/
FIT BT & 519 TF T e, 33 e & &9 /S amar 22
1. The heat is transferred from a cold body to a hot body only. /
FoT, 32 A & Faer vt e § woeiaia 2t )
2. The heat is transferred from a hot body to a cold body and also from a cold body to a hot body./
ST, T T A 52 Frr 3 e 2 £ o 5% faer e frer # o eriana 2 2
3. The heat is transferred from a hot body to a cold body only. /

1, TH B A Had 68 Me & RIFRd gl g

4. No heat transfer takes place./



TS HOAT TAATAT Al grdl gl

Correct Answer :-

« The heat is transferred from a hot body to a cold body only. /

ST, T e A Fad G Fe & RiHiaRkd g g

9) A tadpole develops into an adult frog by the process of: /

TP U, 1 ufthdn gRT U& 99 ded | o fa gian 6:
1. Metamorphosis/W’i?‘lTUT

2. Fertilization / &

3. Budding /
4. Cloning/afﬂﬁ'rf

Correct Answer :-

« Metamorphosis / TITAROT

10) The voice of Sanjay became hoarse and started to crack while talking. The reason for the change in his voice is
due to: /

eTd JHY HoTd P MTATSl, FH R Be (TSN T 8 | SHPT marst # gRkad 11 &1 R 3:
1. Development of sex organs / T 30T 1 faprg

2. Changes at puberty/mﬁqﬁa?&f

3. Increase activity of sweat and sebaceous glands /O sﬁvaqmﬁa‘rﬁﬂﬁﬁfﬁﬁm

4, Change in body shape / TRR F AMHR H uRad—

Correct Answer :-

 Changes at puberty/?ﬂmﬁqﬁaﬁ:{

11) Forest fires and volcanic eruptions add one of the major pollutants into the air. This pollutant is: /
ST P 3T IR SATaTgET favwple, ga1 § U Y& Ugu® &l Uid 3d & | 98 UgUP @
1. Chlorofluorocarbon / FARIFARIBTET

2. Hydrogen sulphide / IR SV HethIg S

3. Particulate matter / BT0IBTY Taref

4. Hydrocarbons /E'IE@WI@TT

Correct Answer :-

« Particulate matter / HTOTh I T

12) The headlight of cars and scooters use mirrors which are: /

BRI 3R Tl B gSATSe A STATA 811 aral guor fFr=T g &'

1. Concave in shape / 3TPR T saad



2. Convex in shape / 3R H A
3. Plane in shape / HR T JHAA
4. Spherical in shape / PR T MATDHR

Correct Answer :-

« Concave in shape / 3R H 3fadad

13) The term ‘Cell’ was coined by: /

T PIRST 71 & gr1 ufaurfed foar ma ar:
1. Antonie van Leeuwenhoek / Qa:ﬁ aq Fqﬁ%’”w

2. Robert Brown / Jq¢ ST3

3. Robert Hooke / ¢ gh

4. M.J. Schleiden / TH. O, Tefle

Correct Answer :-

- Robert Hooke / 3¢ gh

14) Naphthalene balls disappear with time because of .
Aeyefi= Ft Mferai wwa & |1y % PRI &1 STl 31
1. Evaporation / dT®-

2. Distillation / 3THIT

3. Sublimation / SedUTd

4. Crystallisation / IERSRIER

Correct Answer :-

« Sublimation / S&IUTG

15) Unicellular eukaryotes are grouped under which of the following kingdoms? /
THDIRBIG gHiaifes o1 Frafafad o & fra wa & siavfa aadied ot mar 82
1. Fungi / hdd

2. Protista / TTCxeT

3. Plantae / Wcl

4. Monera / AIFRT

Correct Answer :-

. Protista / Tife¥eT

16) Isotopes of an element have the same ‘Z’ value but differ in: /

TP dd S GRS A <7’ BT A GHH gidT ¢ dfe= = & fia gid €
1. Number of neutrons in the nucleus / W%ﬁ?:g”ﬁﬁ&»"rw



2. Number of electrons in the atom / YXHIT] T 3@3@'\@ DI HEAT
3. Number of protons in the nucleus / NS o Uil ol e
4. Number of protons and electrons in the atom / UIHIJJ T Oier! 3R sﬁazjﬁr Dt T

Correct Answer :-

« Number of neutrons in the nucleus / A& & ?E\I&ﬁ CaRsEei|

17) Which of the following is used as a moderator in nuclear reactors? /

fFrafafa 3 3 fewe Sy wwam] Rugesl § ted @rsver) & v § fHar s 82
1. Cadmium / HSTEH

2. Graphite / DIIE

3. Uranium / CB'&ITI'J:[
4. Cobalt / PISTeT

Correct Answer :-

 Graphite / ‘BI'CI'TIE_CT

18) Which of the following statements does not suit organic farming? /
frafafad 3§ @ o9 91 oy Hfe @R & fRAvg 3§ Suge 78 @2
1. It is a farming system with maximum input of organic manure and recycled farm wastes. /
Tg T BN Jureht & s Sifdes Tie & sifidad 37qe 3R G-d-teR0r B 3afy gid g
2. It is the farming with maximum use of chemicals and fertilizers. /
g AT 3R IRB & RIFad ITTIT TR ARG H B
3. It is the farming with the help of biofertilizers. /
I8 Wd IA| BI Hag A g arell piv gl
4. In this system, biopesticides are used to control pests. /
S YU H, SIash Ie-IRIe | 1 SUAN Bict Bl FHafid #37 & o far smar gl
Correct Answer :-

« Itis the farming with maximum use of chemicals and fertilizers. /

g ITAL SR IRBI & HHaH ITINT TR SR H B

19) Which one of the following is an example of a chemical compound? /
frafafEa & @ S 1 IETafe Hfe o1 TE eI R?

1. Marble / SRR

2. Brass / didl

3. Stainless steel / TN WX Id

4. Air / gdl

Correct Answer :-



« Marble / STHHAR

20) Parenchyma containing chloroplasts is referred to as: /
gRaaa® gaa gas &) A = A Wehfa fear smar 2:
1. Collenchyma / W@W (ﬁﬁ?ﬂgﬁﬂ)

2. Sclerenchyma / €@ o (WWD

3. Aerenchyma / dIgdd (QRAHTSHN)

4. Chlorenchyma / FANRBIZA!

Correct Answer :-

 Chlorenchyma / mﬁtﬂ



